
Wind Loads 

 

ASCE 7-10 Velocity Pressure 

qz10= 00256.0V*Kz*Kzt*Kd*V^2 

where: 

qz10 = ASCE 7-10 velocity pressure evaluated at mean roof height (psf) 

Kz = velocity pressure exposure coefficient 

Kzt = topographic factor 

Kd = wind directionality factor 

V = basic wind speed (mph) from ASCE 7-10 maps referred to as ultimate wind speed maps in 

2012 IBC. 

Assuming all correction factors K=1 for exposure C and a mean roof height that will be < 30ft 

and head on wind: 

qz10=28.224 (psf). This would be assuming a worst case scenario for the greenhouse. 

 

ASCE 7-10 data is provided by the American Wood Council 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Velocity Pressure using tables 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Wind loads for exposure C (open terrain) provided by Purdue University and the ASCE 7-10 

handbook. This table is wind velocity for ASCE7-10 against the mean roof height, as well as the 

ratio between the base and length (L/B) 



 

Using the ASCE 7-10 Table 27.6-1 for exposure C and assuming the maximum height of around 20ft, the 

wind pressure is read to be between 23-27 (psf). This value will be slightly higher than expected values 

as the table ends at 110 (mph) instead of the wind velocity provided by the Applied Technology Council of 

105 (mph). 

 

Snow Loads 

 

Snow load map provided by theUniversity of Idaho library,Digital Interactives 

Using the interactive snow load map provided by the University of Idaho, the worst case snow load can 

be assumed to be about 20 (psf). 


